41501_ A BERE AR  KBEXRZME

7= miiEA

MR

BERENEHREMAEBESHITZSERE,
HBRFEEmERTLURBIRAHRE N,
BEXREERSEXESHRBLAES. IRETEHERN , TATFRX

%
FFARZRRRE , IOIRETHSHARS  ARTHRENTIREN
BEERMFME,

BERERPVERI  TUBHRERXENRFITLEIME,
BHITE : M12 = +1.0 mm, M16 = £1.5 mm.

ME
BERFR R MR R ERN
g -
BERMFXEZHLRBLLNREELLE,
BR:
EREMENFNMEFT LR T UMALE T ER , UERIRENIH
RERE,
s -
BEXE,
EE 1R,
® L
L
g | | j = %JJ{}
z M B1
Py
ke
41501-0500112 A KB 445 50,5 50 25 30| 12,5 | 3,5 M5 M12x25 30 85
41501-0720112 A KB 61 68 72 | 39,7 44| 21,3 | 3,5 M6 M12X40 30 85
41501-0720116 A KB 61 68 72 | 39,7 44| 21,3 | 35 M6 M16X40 50 150
41501-1000116 A KB 71,5 815 | 100 | 426 64| 21,6 5 M8 M16X40 50 150

© norelem www.norelem.com



